
3/4" BASEPLATE ON ±1" HIGH
STR. GROUT.

(4) 3/4"Ø HH F1554 GRADE 36KSI
THREADED ANCHOR RODS W/ 8"
MIN EMBEDMENT. -TYP UNO

4
'-
0
" 

M
IN

 -
T

Y
P

SEE ARCH

3/4" BASEPLATE ON ±1" HIGH
STR. GROUT.

3/4" BASEPLATE ON ±1"
HIGH STR. GROUT.

(8) 3/4"Ø HH F1554 GRADE 55
THREADED ANCHOR RODS
W/ 24" MIN EMBEDMENT.

6
"

1'-1" 1'-1"

4'-0"

1
'-
0
"

4'-0"

1/2" SHEAR-TAB CONNECTION W/
3/4"Ø A325 BOLTS - SEE GENERAL
NOTES FOR DETAILS - TYP.

HSS COLUMN PER PLAN

3/16"
TYP.

3/8" THICK GUSSET WELDED
TO COLUMN   -TYP.

HSS5X5X3/8" CROSS BRACING

BEAM PER PLAN

CIP WALL BEYOND.  RUN ALL TYPICAL
HOR. & VERT REINFORCING CONT. THRU
PILASTER. - TYP.

#4 TIES @ 12" O.C.  (2)
@ TOP. -TYP UNO

(8) #5 VERTS W/ STD HOOK @ TOP.

(8) #5 HOOK DOWELS TO MATCH
PILASTER VERTS -TYP.

FOOTING W/ REINFORCING PER
PLAN

#4 TIES @ 12" O.C.  (2)
@ TOP. -TYP UNO

3/4" CAP FIXED CONNECTION W/ (8)
3/4"Ø A325 BOLTS AS SHOWN.

WIDE FLANGE COLUMN PER PLAN

WF BM CONT OVER COL BELOW.
BEAMS AS INDICATED W/ (CONT)
PER PLAN.

HSS COLUMN PER PLAN

4" SLAB ON GRADE POURED
OVER PILASTER - TYP.

(6) 3/4"Ø HH F1554 THREADED
GRADE 55 ANCHOR RODS W/ 14"
MIN EMBEDMENT.

4" SLAB ON GRADE POURED
OVER PILASTER - TYP.

3/8" THICK TAB WELDED TO BEAM &
FASTENED @ SHEAR TAB @ ROD
ATTACHMENT - TYP.

SECTION 3/4"=1'-0S202
L

3/8" FITTED STIFFENER PLATES
BOTH SIDES

SECTION 3/4"=1'-0S202
N

1 1/2"

BP1 BASE PLATE
SCALE: 3/4"=1'-0

1
'-
0
"

1'-0"

4 1/2" 4 1/2"

1 1/2"

1
 1

/
2
"

4
 1

/
2
"

4
 1

/
2
"

1
 1

/
2
"

BP2 BASE PLATE
SCALE: 3/4"=1'-0

BP3 BASE PLATE
SCALE: 3/4"=1'-0

BP4 BASE PLATE
SCALE: 3/4"=1'-0

BP5 BASE PLATE
SCALE: 3/4"=1'-0

BP6 BASE PLATE
SCALE: 3/4"=1'-0

BP7 BASE PLATE
SCALE: 3/4"=1'-0

BP8 BASE PLATE
SCALE: 3/4"=1'-0

(RIGHT OR LEFT PER PLAN)

1 1/2"

1
0
"

1'-0"

4 1/2" 4 1/2"

1 1/2"

1
 1

/
2
"

4
 1

/
2
"

2
 1

/
2
"

1
 1

/
2
"

1 1/2"

1'-0"

2 1/2"

3 1/2"

3"

1
'-
0
"

1 1/2"

1
 1

/
2
"

2
 1

/
2
"

3
 1

/
2
"

3
"

1
 1

/
2
" 1 1/2"

1
0
"

1'-3 1/2"

5 1/4" 7 1/4"

1 1/2"

1
 1

/
2
"

4
 1

/
2
"

2
 1

/
2
"

1
 1

/
2
"

1 1/2"

1'-0"

2 1/2"

3 1/2"

3"

1
'-
0
 3

/
4
"

1 1/2"

1
 1

/
2
" 2
 1

/
2
"

2
 1

/
2
"

1
 1

/
2
"

8
"

5"

1 1/2"

3 1/2"

5"

1 1/2"

3 1/2"

1'-8" 1 1/2"

5
"

1'-0"

3 1/2"

1
 1

/
2
"

1
"

1
"

1
 1

/
2
"

1"

1 1/2"

3 1/2"

1"

2 1/2"

4
"

6"

3/8"

1
 3

/
4
"

1
/
2
"

2
 5

/
8
"

2
"

1 1/8"

1 1/2"

1"

2"

(4) 13/16"Ø

(4) 13/16"Ø (4) 1
3/16"Ø

(13) 13/16"Ø

1
 1

/
2
" 2
 1

/
2
"

3
 1

/
2
"

1
 1

/
2
"

1
 1

/
2
"

(4) 13/16"Ø

2
 1

/
2
"

(4) 13/16"Ø

(2) 13/16"Ø

(8) 7/16"Ø

WIDE FLANGE
COLUMN PER
PLAN

HSS COLUMN
PER PLAN

HSS COLUMN
PER PLAN

EXTERIOR GRADE
ELEVATION VARIES -
SEE SITE PLANS - TYP.

3/8" THICK GUSSET
PLATE @ CABLE
BRACE ATTACHMENT

3/8" THICK GUSSET
PLATE @ CABLE
BRACE ATTACHMENT

HSS COLUMN
PER PLAN HSS COLUMN

PER PLAN
HSS COLUMN
PER PLAN

HSS COLUMN
PER PLAN

HSS COLUMN
PER PLAN

3/4" CAP FIXED CONNECTION W/ (4)
3/4"Ø A325 BOLTS -TYP UNO

1'-51
8"

WF BM CONT OVER COL BELOW.
BEAMS AS INDICATED W/ (CONT)
PER PLAN.

SECTION 3/4"=1'-0S202
M

(8) #4 VERTS PER PILASTER DETAIL
-TYP

(8) #4 HOOK DOWELS TO MATCH
PILASTER VERTS -TYP.

#4 TIES @ 12" O.C.  (2)
@ TOP. -TYP UNO

1/4" FITTED STIFFENER PLATES
BOTH SIDES -TYP

4" PROJ -TYP.

1/4" FITTED STIFFENER PLATES
BOTH SIDES -TYP

3/16"
-TYP UNO

CJP, FLANGE TO CAP

WEB TO CAP
1/4

CJP, FLANGE TO BP

WEB TO BP
1/4

#4 TIES @ 12" O.C.  (2)
@ TOP. -TYP UNO

SLOT HSS & WELD TO PLATES @ ALL
CONNECTIONS - TYP.

3/4" CAP FIXED CONNECTION W/
(6) 3/4"Ø A325 BOLTS AS SHOWN.

3/16"
-TYP UNO

8"

3/16" 8"

1

1

HSS COLUMN PER PLAN - TYP.

1/2" COMPRESSIBLE JOINT
MATERIAL - TYP.

FREE DRAINING STRUCTURAL FILL
PER GEO-TECHNICAL ENGINEER -
TYP.

4" MIN. SLAB ON GRADE - SEE
PLANS

VENTING & DRAIN PIPES PER
GEOTECHNICAL REPORT - TYP.

COLUMN FOOTING - SEE PLAN /
SCHEDULE FOR DETAILS ON SIZE &
REINFORCING - TYP.

3/4" THICK BASE PLATE W/ (4) 3/4"Ø
X 12" GRADE 36 F1554 GALV. EMBED
ANCHORS - TYP.

GRID GRID

GRID GRID

1
'-
0
"

9" 1'-1"WORKPOINT

SECTION 3/4"=1'-0S202
P

(2) #5 CONT. EPOXY
COATED BAR T&B E.F.

4" CONC SLAB W/
FIBERMESH, SEE PLAN

#4 VERT. EPOXY COATED
BAR @ 32" O.C. E.F.

#4 CONT. EPOXY COATED
BAR @ 18" O.C. E.F.

FINISHES - SEE SITE
PLANS - TYP.

V
A

R
IE

S

VARIES

SECTION 3/4"=1'-0S202
Q

3/8" THICK TAB WELDED @ CROSS
BRACE INTERSECTION

S202

S
E
C

T
I
O

N
S

I
S
S
U

E
 
D

A
T
E

S
H

E
E
T
 
S
C
A
L
E

P
R
O

J
E
C
T
 
N

O
.

P
R
O

J
E
C
T
 
N

A
M

E

B
i
l
d

 
A

r
c
h

i
t
e
c
t
u

r
e

P
O

 
B
o
x
 
8
2
3
5

P
o
r
t
l
a
n
d
,
 
M

E

0
4
1
0
4

2
0
7
.
4
0
8
.
0
1
6
8

e
v
a
n
@

b
i
l
d
a
r
c
h
i
t
e
c
t
u
r
e
.
c
o
m

C
O

P
Y
R
I
G

H
T
:
 
R
e
u
s
e
 
o
r
 
r
e
p
r
o
d
u
c
t
i
o
n
 
o
f
 
t
h
e
 
c
o
n
t
e
n
t
s
 
o
f
 
t
h
i
s
 
d
o
c
u
m

e
n
t
 
i
s
 
n
o
t
 
p
e
r
m

i
t
t
e
d
 
w

i
t
h
o
u
t
 
w

r
i
t
t
e
n
 
p
e
r
m

i
s
s
i
o
n
 
o
f
 
B
i
l
d
 
A
r
c
h
i
t
e
c
t
u
r
e
 
L
L
C

1
0

/
2

5
/

1
6

1
3

0
1

2

8
8

 
P

R
E
B

L
E
 
S

T
.

P
O

R
T
L
A

N
D

,
 
M

E

C
O

N
S

T
R

U
C

T
I
O

N
 
D

O
C

U
M

E
N

T
S

D
R
A
W

N
 
B
Y

S
H

E
E
T
 
T
I
T
L
E

M
K

L

R
E
V
I
S
I
O

N
S

1

2 3

4

5

- - - - -

SI: 16-0122

A
S

 
N

O
T
E
D

S

AutoCAD SHX Text
October 25, 2016


	Sheets and Views
	16-0122 Plans-2-S202


